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Errata corrige
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_ .2k + Ak _ .2k + Ak
20, ultime = hysin| ————x - ...|... = 2hysin| ————x - ...|...
2 formule
~ hy sin (kx - wt)... ~ 2hy sin (kx - wt)...
Ak A
21, prima - A _ Ak o 7 _ Ao
formula &  Aw & Ak
é Aw A k
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112, prima Ao =..= Ldnz - Aa=..= Ldnz -
formula A 9
112
> 4 4
seconda AaILan -m = (2m+1)n Ao = Ldnz - = (2m+l)n
formula A
112, terza d= A d= o
formula 2n, 2n,
113
’ 4nd 4nd
seconda Ao =..= A_nz Aa = —n
formula 1 4
4 4
113, terza Aa = _nd ny = (Zm + 1)n Aa = _nd ny = (2m + l)n
formula A Ay
113, quarta d= A d= 2
formula n 4n,
Revisione A
13, -0 0 0 -0 0 0
V=—u +—u, +—1u V=—u +—u, +—u
secon'da ox gy e T Y T
espressione
155 sgsta [/1} _ L [/1] =m
espressione m
39, ultima _le o n 1 0 _le o2.2_1 2
formula - n“kE > cEy”-n 2 ggn“Ey 2 cegEy” - n
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79,1V 29;1[.2 Zgniz
formula (Iz>mE2 =E02e ¢ (IZ>0<E2 =E02e ¢
oo | 4T _ 11 1 L, | Lol 1 o
formula a vi 242 + 22 a vi 2 [42 +y2
103, pri
fo;rflslr:a = (kr2 - ot + g0]) - (krI - ot + (p2) = | .= (kr2 -t + ¢2) - (krl - ot + ‘ﬂ]) =..
10?’ Vi stima per difetto stima per eccesso
riga
I 1y
107, 111 <Imaxsec> = % < <10> <Imaxsec> = gm>+ 1 > <10>
formula sin? T sin?
2N 2N
107, IV e <Imaxpri>>N2<10> =N2 e <Imaxpri><N2<10> =N2
formula <]max sec> - <IO> <Imax sec> B <I()>
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